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Physical Constant &, = 8.85 x 10™ C% N.m?, |e|=1.6 x 10™ C, m, =9.11 x10 * Kg
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Q1) A parallel-plate capacitor, each plate have an area of 7.60 cm?, separated by a
distance of 1.80 mm. If 20 V potential difference is applied to the plates, the
surface charge density for the capacitor equals:

A. 10.2 x10° B. 98.3x10°° C.1.4x10°° D. 10°°
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Q2) A parallel-plate capacitor is charged and then disconnected from the battery. If the
plate separation is doubled, the stored energy is:

A. Unchanged B. Doubled C. Halfed D. Zero
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Q3) If C1=6 uF, C2=3 uF, and Cs = 2uF, the equivalent

capacitance between points 2 and b equals: ¢ G
A. 11 pF
B. 3 uF Co G g,
C. 24 uF
D.13 uF
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Q4) A parallel-plate capacitor with a plate area of 1.75 cm? and plate separation
of 40 um. If the space between the plates is filled with Teflon
(k=2.1), the capacitance of the capacitor equals:

A. 9.18 B. 38.7x10 12 C. 184 x10 2 D. 81.3x10 2
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Q5) In a conductor, if the current is 32 mA, the number of electrons passing a
cross section of the conductor during 50 s equals:

A. 10% B. 1.6x10% C. 1.6x107%° D 512 x10%
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Qo) If the resistance of a wire changed from 40 Q to 60 Q when its temperature
decreased by 50 °C, the temperature coefficient of resistivity (o) equals:

A. 10x103/°C B.-10x102%/°C C. 75x10°2/°C D.-75x1023/°C
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Q?7) If an electric field of 0.96 VV/m exists in a gold wire (p =2.4 x10® Qm), the
current density in the wire equals:

A. 25 x10¢° B. 30 x10° C. 40 x10¢ D. 50 x10°
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Q8) A current of 2A passes in a circuit that has a resistance R. If the applied voltage is
doubled, the current in the circuit in this case equals:
A. 1l B. 2 C.3 D. 4
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Q9) The cost per week of operating a lamp that draws a current of 1.5 A from 220V.
(Assume the cost of energy 5 halalah /kW-h).

A. SR 0.11 B.SR 2.77 C. SR 166.2 D.SR 33
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Q10) At equilibrium the electric current passing through R =5 Q equals:

AW —Wh—

T 1mF
V™" 6Q go =60
A. Zero B. 05A C.1A D. 2A
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Q11) If a current of 2 A passing in a 5 Q resistor connected to a battery that has a 0.5 Q
internal resistance, the emf of the battery € is:

A.25V B.10V C. 11V D.1V
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Q12) In the Figure, if the potential difference between

aand b is 10V, the current passing in the 100 €
resistance 50 Q equals: 2100 Q b
A. 033 A B. 0.5 A ._‘50WQW_ 100 €

C. 02A D. 0.1A
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Q13) In the velocity selector, the particle speed is given by the relation:

A. (E.B) B. (E/B?%) C. (E/B) D. (B/E)
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Q14) A conductor 3 m long carries a current of 5A is placed in a region parallel to a
uniform magnetic field of 2 T. The magnetic force acting on the conductor equals:

A. Zero B.14 N C.15N D.30N
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Q15) If an electron moves with linear velocity 5x 10° m/s, under a perpendicular
magnetic field of 8 T, the radius of its angular path equals:

A.5 mm B. 3.6 nm C.1.6 nm D. 1.4 um
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